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OR (3121a1)

Who is competent to accept an offer? Explain the
rules relating to an offer as provided in the Indian
Contract Act 1872.

Udrd bl WeR H3 A B gerd 27?
AR Igad w1872 & Y@
Gaefl fraay &1 aHsg |

8. What is promissory note? What are the essential

elements of promissory note?

yfasm—ua @ar 2?2 ufdsm—ua & 3ravas
A&TOT T 2?

OR (3121a1)

What is the objective of Industrial Dispute Act?

What are its main provisions?

sTsRgad feve vae &1 @ Sew 27
s & ddl &l fad?

OT5052 32503

2019(Odd) Old Syllabus

Time : 3Hrs. Sem. V/M.T. (Mop)
CIL

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

79—C ¥ u+fl ufa ue=l & SR <, UAS U &1 99, 83(d 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O
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OR (3121an)

What are the characteristics of a valid pledge.

d°g iRl ) faRivad «ar 22

What do you mean by accommodation bill of
exchange?

aue faffma u= 9 o w1 wHsd 27

OR(37214)

Write short notes on any two of the following :

(1) Retrenchment

(i1) Working hours according to factories Act.

(ii1) Lay -off.

frr=fafRaa & @ <1 o 4fdra fewofy ford |

(@1 Reade
(@) Do Tae B ITAR A X
(@) o 3Afw

What is the differences between fraud and
misrepresentation.

OT5052

(i)

(iii)

(iii)

(iv)

3 32503

YT gRT Yoi=dl GaHT &1 ST G
3

(1) sEwa gRT

(d) Toivs @ @WUsH gRI

(4) a9 @ @vsd gRT

(?) 9o @ fearferal 81 w®

Which of the following is not negotiable
instrument?

(a) Bill of exchange

(b) Cheque

(c) Hundi

(d) Promissory note

3™ 9 P9 fafa ey faaw w1 ) 2-
(@) fafma =

(@) a®

(w) gosl

SRIGEURE]

Parties in promissory note are:
(a) 4
(b) 3
(c) 2
(d) 5

P.T.O
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(xx) DUc B IRT 2—
(31 15
@) 16
(@) 17
(=) 18

GROUPB

Answer all Five Questions.
afl gfa gy & SR o

2. What are the parts of lien?

TR & fodd arr 2 ?

0T5052

4x5=20

0T5052

(vi)

(vii)

(vii)

(viii)

5 32503

9% @ @d § ®UAT ST HIAT 2—
(31) PR &1 3rgae

(@) gy &1 sgew

(|) TR &1 gAY

(]) AT qAT ISR A9

The section of the definition of contract of
bailment is:

(a) 151

(b) 150

(c) 149

(d) 148

89 & e &1 yRHST I °RT 2
(31) 151
(@) 150
(w|) 149
(<) 148

In a contract of pledge there is transfer of:
(a) Ownership

(b) Custody

(c) Possession

(d) Ownership and possession both

P.T.O
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(xvi) AT YaiftreR féas o Sude o—

(xvii)

(xvii)

(xviii)

(@) EwEar

(@) slcd aral

(|) us ATl &I 9= arad
(g) da%

The section of unlawful agreement is
(a) 13
(b) 23
(c)22
(d) 32

I defie HRR B aRT B—
(3) 13
(@) 23
(|) 22
(?) 32

A section of consideration is:
(a) 2(a)
(b) 2(c)
(c) 2(d)
(d) 2(b)

OT5052

x)

(xi)

(xi)

(xii)

7 32503

y¥dd iepd & WR 99 Il 2—
(31) ww=itar

(@) a=

(w) srga=

(@) 79 | By L

The minimum parties to a contract are:
(a) 2
(b) 3
(c) 4
(d)6

ITEYT B fIY H9 9 &9 vEHR T 2—
(&) 2
@) 3
(W) 4
(€) e

The section of revocation of proposal is:
(a) 2
(b)3
(c) 4
(d)5

P.T.O
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10.

What is an agreement? How many types of
agreement are there?

asiar |1 2?2 38 fdad yaR & gid 27

OR (3121a1)

What is Contract of Guaranties?
What are the characteristics of contract of guarantee?

YA ST a9 FT 22 YATT I DI
faervard «ar 82

What is Consideration?
What are the elements of Consideration?

yfawe T 27
yfawe ® doa T 87
OR(3721dT)

What is Holder in due course?
What are the characteristics of a holder in due
course?

P.T.O
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10.

What is an agreement? How many types of
agreement are there?

aHsiar |1 2?2 38 fdad YR & id 27

OR (3121a1)

What is Contract of Guaranties?
What are the characteristics of contract of guarantee?

YA & a9 FT 22 YATYT IqdeT DI
faRrvard «ar 82

What is Consideration?
What are the elements of Consideration?

8
yfawe w7 27
yfawe ® doa T 87
OR(3721dT)
What is Holder in due course?
What are the characteristics of a holder in due
course?
P.T.O
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